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6. (5 pts) Prove that thefequation ) f'(x)=x" —4x* +6x* +28x—91 has a root in the interval (0,5), but do

not solve! S\
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7. Differentiate the following with respect to the indicated independent variable. Do not simplify!
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b. (5pts) g(x)=cos(5x)sec(3x); x.
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c. (5pts) h(ﬁ]_%
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8. Consider the relation x* —3xy+4y* = cos(y) :

e e el . d
a. (5 pts) Use implicit differentiation to find y'= d—y
X

b. (5 pts) Find an equation of the tangent line to the curve at the point (1,0).
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1. (10 pts) Evaluate li x;74
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2. (10 pts) Evaluate each of the following by factoring and simplifying. One exists. The other doesn’t
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